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function eventTest(evt:MouseEvent):void{
evt_target.rotation+=10;
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btn_mc.addEventListener(MouseEvent.CLICK, eventTest);
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function eventTest1(evt:MouseEvent):void{

trace(“eventTest1”);

}

function eventTest2(evt:MouseEvent):void{
trace(“eventTest2”);

}
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btn_mc.addEventListener(MouseEvent.CLICK,eventTest1);

btn_mc.addEventListener(MouseEvent.CLICK,eventTest2);
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btn_mc.removeEventListener(MouseEvent.CLICK,evenTest1); ‘
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function eventTest(evt:MouseEvent):void{
evt_target.rotation+=10;
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evt_target.addEventListener(Event. ENTER_FRAME eventTest);
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var rect:Sprite = new Sprite();

rect.graphics.beginFill(0x00FF00);

rect.graphics.drawRect(-75, -50, 150, 100);

rect.graphics.endFill();

rect.x = rect.y = 100; I A Z x JEEE y JEEE 1 0 0 p x IZ&E <
addChild(rect);

public function Onclick():void {
var rect:Sprite = new Sprite();
rect.graphics.beginFill(0x00FF00);
rect.graphics.drawRect(-75, -50, 150, 100);
rect.graphics.endFill();
rect.x = rect.y = 100;
addChild(rect);
rect.addEventListener(MouseEvent.CLICK, test);
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function test(eventObj:MouseEvent):void {
Ilbox_mc % 45 JE[Fl#x < %

rect.rotation += 45;
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stage.addEventListener(MouseEvent.CLICK, Onclick);

fiZ% Event 27 + Onclick2.as

public function Onclick2():void
{
stage.addEventListener(MouseEvent.CLICK, Onclick);
function Onclick(evt:MouseEvent):void {
var mc:Sprite = new Sprite();
var fillcolor:uint = OxFFFFFF * Math.random();
mec.graphics.beginFill(fillcolor);
mec.graphics.drawRect(0, 0, 100, 150);

mec.graphics.endFill0;

mc.x = 100;
mc.y = 100;
addChild(mc);
}
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rect.graphics.drawRect(0, 0, 150, 100);
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public function Renzoku():void
{
var rect:Sprite = new Sprite();
rect.graphics.beginFill(0x00FF00);
rect.graphics.drawRect(-75, -50, 150, 100);
rect.graphics.endFill();
rect.x = rect.y = 100;

addChild(rect);

rect.addEventListener(Event. ENTER_FRAME, test);
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function test(eventObj:Event):void {

Ilbox_mc % 45 JE[Fl#x < %

rect.rotation += 45;

}
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public function Renzoku2():void
{
var rect:Sprite = new Sprite();
rect.graphics.beginFill(0x00FF00);
rect.graphics.drawRect(-75, -50, 150, 100);
rect.graphics.endFill();
rect.x = rect.y = 100;

addChild(rect);

rect.addEventListener(Event. ENTER_FRAME, test);
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function test(eventObj:Event):void {

Ilbox_mc % 45 JE[Fl#x < %

rect.x += 5;

}




